
Compact  Gas Spring 
TM

Max Dynamic Load：15.4 LBS (7KG)
Max Static Load：100LBS (45KG)
Life duration：10000 time

Model: XD9101
IMPORTANT：READ THE OWNER’S  MANUAL 
BEFORE ASSEMBLING

Instruction Manual



 

23.6"in

600mm 31.5"in800mm

29.2"in
742.5mm

46.9"in
1192.5mm

MIN:

MAX:

Table of contents

Introduction

Introduction 1

Safety Warnings / Maintenance 2

Assembly 4 - 5

Operational Instructions 5 - 6

Hardware / Tools / Parts 3

Congratulations on taking a STAND for your well-being by purchasing 
our Sit-to- Stand Desk!

We know that your chair will still be a part of your day, but we are confi-
dent that your new Sit-to-Stand Desk will give you a healthy alternative 
to inactive sitting.

WARNING!
Please do not touch the switch or handle during installation 
because the height adjustable column will bounce out. 
This will make installation more difficult and can cause serious injuries. 

Weight of Compact™ (Gas Spring) : 
53 lbs(24.07kg)

Foot Print Size: 
31.5” Wide x 23.6” Deep x Min. 29.2” / Max. 46.9” Heigh 

1



We Want You To Safely Use This Product

SAFETY WARNINGS - URGENT PLEASE READ THIS SECTION

1.   Read the entire manual before assembling and using this equipment. Safe use can only be 
  achieved if the equipment is assembled, maintained and used correctly. All users of the 
  equipment must be informed of all warnings and precautions.

2.   CAUTION! Do not exceed the Maximum Listed Weight Capacity of 100 lbs (45kg). Serious 
  Injury or Property Damage may occur.

3.   WARNING! Make sure no obstacles are in the desk’s path. Make sure the desktop is not 
  touching any walls. Make sure all cords are appropriate length to accommodate the change 
  in height.

4.   Do not sit or stand on the desk frame. Do not crawl or lie under the desk frame.

5.   Do not place any objects taller than 20” underneath the desk.

6.   Do not attempt to raise or lower the desk with any item on the desk. Remove all items before 
  raising or lowering.

7.   Do not attempt to move the desk with any items on the desk. Remove all items before moving 
  the desk.

8.   Do not use for holding televisions or microwave ovens.

9.   Keep young children and pets away from equipment.

10. Inspect and tighten all parts often. Replace any worn parts immediately. Do not use the 
  equipment until the problem has been resolved.

11. If you find any defective components while assembling or checking the equipment, 
  stop immediately.

Maintenance

The integrity of our Sit-To-Stand Desk can only be maintained when it is regularly inspected for 
damage and wear. Special attention should be given to the following.

HARDWARE: Verify that all bolts are present and properly tightened.

TIP: Inspect Allen Bolts from time to time.  NOTE: Do not overtighten Allen Bolts. 

LUBRICATION: Periodically add lubrication for smooth operation.

NOTE: This equipment is suitable for home, school and office use only. Do not use in commercial or 
rental settings.This item was not intended or designed for use in commercial or public places.

WARNING! 
This height adjustable desk is designed for use in dry work areas only. 
The desk height is adjustable so that it can be positioned at the most ergonomically 
suitable height. Any other use is at user’s risk.

2



Parts

Hardware

Tools

Note: The images do not represent the actual size.
Tip:  Only remove the hardware and tools from the labelled packaging when needed.

C. M6 x 12 Allen Bolt 4pcs.A. M8 x 20 Allen Bolt 4pcs B. M6 x 30 Allen Bolt 4pcs.

4mm Allen Wrench 1pc D. 5mm Allen Wrench 1pc E.

Desktop (1) Base (2)

Basket (4)Height adjustable column (3)

23.6"in

600mm 31.5"in

3



Assembly 
Note: Before assembly, please check all parts carefully.

Figure 1

Figure 2

D
B

(1)

(3)

Step 1: While the Desktop (1) is still upside 
down, slide the plastic ring down, insert into 
place. 

Then attach the Desktop (1) and the Height 
adjustable column (3) by using the supplied 
4 mm Allen Wrench D to tighten the M6 X 
30 Allen Bolts B . 

Note: Do not overtighten Allen Bolts.

Step 2:Attach the Base (2) to the 
Height adjustable column (3) by 
using the supplied 4 mm Allen 
Wrench D to tighten the M6 X 12 
Allen Bolts C

Using the supplied 5 mm Allen 
Wrench E to tighten the M8 X 20 
Allen Bolts A 

C

D
(2)

A

E

(1)

(3)

Estimated Assembly Time : 10 minutes

4



Figure 1

 

Operational Instructions
Note: Before operating, please read carefully.

Figure 3

D
(1)

(4)

C
 

Step 3: Using two M6 x 12 Allen 
Screws C and the 4 mm Allen 
Wrench D tighten the Basket (4) to 
the underside of the Desktop (1) .

Height Adjustment
Step 1: To adjust the height 
of the Desktop (1) push 
handle up and hold.

5



Figure 2

Step 2: Using both hands control the height by pushing down or letting the desk rise. 

Step 3: Release the handle to fix at the desired height.

Figure 3

6



Tip 1: Slight incline the desk to move easily move the desk using the wheels. 

Tip 2: The basket can be use to manage cable avoid storing heaving things. 

Tip 3: Frontal base can be adjusted to achieve stability on uneven surfaces.


